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QUESTION 1

Which statement best describes an advantage of virtual tape libraries (VTL) in comparison to disk to disk (D2D) backup
solutions?

A. Disk array does not respond to backup software command just as if it were a tape drive or tape library.
B. Virtual type is automatically sent to off-site vault after backup finishes

C. Existing backup applications and processes can be used with VTL

D. Disk array works as a "temporary cache" for the backup software

Correct Answer: C

QUESTION 2

What is one advantage of hardware RAID controllers?

A. Volume management is performed by the host

B. Volume management is performed bu the switch

C. Parity calculation by the server and cache memory on the RAID controller increases read and write performance
D. Dedicated cache memory increases server write performance

Correct Answer: D

QUESTION 3

From a business perspective a well managed archive is particularly important in which situation?
A. In the event of loss of power at the primary data center

B. When an administrator accidentally formats the wrong file system

C. In the event of litigation

D. When a user accidentally deletes an important email

Correct Answer: C

QUESTION 4
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Which subset of target devices allows for scallability beyond the 15 device limit in parallel SCSI?
A. target ports

B. I-T-L Nexus

C. logical units

D. command Descriptor blocks

Correct Answer: C

QUESTION 5

What are two advantages of IP storage networking? (Choose two)
A. greater security exposure

B. lower cost infrastructure

C. can use existing network management tools

D. lower CPU overhead

Correct Answer: BC
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